## **RAJKOT MUNICIPAL CORPORATION**

Tender No. : RMC/WW/CZ/19-20



## **Bid Documents For**

LAYING AND JOINTING OF A.C.PRESSURE PIPELINE NETWORK ON 9.00 MT. T.P. ROAD ADJOINING SHEETAL PARK MAIN ROAD IN WARD NO.2 (Re-Tender).

(PART-B LABOUR WORK)

## **JANUARY-2019**

### **PRICE BID**

Milestone Dates						
1. Issue of Blank Tender documents	11-01-2019 To 21-01-2019 upto 13.00 Hrs.					
2. Last date for submission of Tender in Person by Hand Delivery / Speed Post/Regd.A.D./ Courier at Central Zone Office address	22-01-2019 & 23-01-2019 up to 18.00 Hrs.					
3. Opening of Technical Bid	23-01-2019 at 18.00 Hrs. (If possible)					
4. Open of Price Bid of qualified bidders only	24-01-2019 at 11.00 Hours (If possible)					
5. Bid Validity	120 Days					

Addl. City Engineer
RAJKOT MUNICIPAL CORPORATION
WATER WORKS DEPARTMENT
DR.AMBEDKAR BHAVAN
CENTRAL ZONE, DHEBARBHAI ROAD
RAJKOT - 360 001 (GUJARAT)



# Rajkot Municipal Corporation Construction Branch

TI	ERMS A	ND CONDITIONS OF TENDER				
Name of work	:-	LAYING AND JOINTING OF A.C.PRESSURE PIPELINE NETWORK ON 9.00 MT. T.P. ROAD ADJOINING SHEETAL PARK MAIN ROAD IN WARD NO.2. (PART-B LABOUR WORK)				
Approved estimated cost Earnest Money Security Deposit	: - : - : -	Rs.2,29,087-00 Rs.2,290-00 2.5% cash 2.5% from R.A.Bill				
Name of contractor	: -					
Address	:-					
Date:	:-					
Witness	:-					
Address	:-					
Occupation	:-					
		Sign of Tenderer				
Rates approv	ed on	behalf of Rajkot Municipal Corporation				
Date:		Sign of Sanctioning authority				

#### **Note on Schedule**

The bid is percentage rate bid for LAYING AND JOINTING OF A.C.PRESSURE PIPELINE NETWORK ON 9.00 MT. T.P. ROAD ADJOINING SHEETAL PARK MAIN ROAD IN WARD NO.2. (PART-B LABOUR WORK).

- 1. The rates and prices shall be submitted in the formats given in the Price Schedules only. Rates and prices received in any other formats will be rejected and the Bids will be disqualified.
- 2. It will be entirely at the discretion of the Employer to accept or reject the bidder's proposal, without giving any reasons whatsoever.
- 3. In Price Schedule, bidder shall quote his percentage above/below for items listed in the schedule. Prices quoted in Schedule only will be considered for price evaluation & shall form a part of the Contract Agreement.
- 4. Only Price Schedule will be considered for financial evaluation of the bid with the successful bidder.
- 5. The bidder shall be deemed to have allowed in his price for provision, maintenance and final removal of all temporary works of whatsoever nature required for construction including temporary bunds, diverting water, pumping, dewatering etc. for the proper execution of works. The rates shall also be deemed to include any works and setting out that may be required to be carried out for laying out of all the works involved.
- 6. Where there is a discrepancy between the unit rates and the amount entered, the latter shall govern.
- 7. The Price Schedules are to be read in conjunction with the Conditions of Contract, the Specifications and other sections of these bid documents and these documents are to be taken as mutually explanatory of one another.
- 8. Prices quoted by the bidder shall be firm for the entire period of Contract without any escalation.
- 9. The bidder shall interpret the data furnished and carry out any additional survey work, or investigation work required at his own cost.
- 10. The prices quoted shall also include the cost of materials utilized for testing.
- 11. The bidder should acquaint himself with the site conditions including the access to Worksite. The successful bidder shall have to make suitable access to worksites at his own cost. These accesses will be used by the other contractors working for RMC.
- 12. If material is not available at RMC Store then bidder shall have to supply the same material at Schedule-B rates.

## Rajkot Municipal Corporation PART-A MATERIAL TO BE SUPPLIED BY **RAJKOT MUNICIPAL CORPORATION**

#### Name of work:

LAYING AND JOINTING OF A.C.PRESSURE PIPELINE NETWORK ON 9.00 MT. T.P. ROAD ADJOINING SHEETAL PARK MAIN ROAD IN WARD NO.2.

#### :: PART-A ::

Sr	Ontv	Description	Rate Uni		Total Amount				
No	Qnty	Description	Rupees.	t	Rupees.				
	PART-A								
1	644.0 0	300mm Dia A.C. Pressure Pipe	1335.17	Rmt	859849.48				
2	161.0 0	300mm Dia. C.I Short Joint	999.00	Nos	160839.00				
3	244.0 0	200mm Dia A.C. Pressure Pipe	580.28	Rmt	141588.32				
4	61.00	200mm Dia C.I Short Joint	629.00	Nos	38369.00				
5	1.00	300mm Dia C.I Sluice Valve(Kirloskar Brand)	49701.0 0	Nos	49701.00				
6	1.00	200mm Dia C.I Sluice Valve(Kirloskar Brand)	28990.0 0	Nos	28990.00				
			Total		1279336.80				

Asst.Engineer R.M.C.

R.M.C.

Dy.Ex.Engineer Addl. City Engineer R.M.C.

Signature of Contractor.

## Rajkot Municipal Corporation Price Schedule

# PART-B (LABOUR WORK) WORK TO BE CARRIED OUT BY THE CONTRACTOR

Name of work:

LAYING AND JOINTING OF A.C. PRESSURE PIPELINE NETWORK ON 9.00 MT. T.P. ROAD ADJOINING SHEETAL PARK MAIN ROAD IN WARD NO.2.

Sr. No	Qnty.	Description of Item	Rate	Unit	Total
1	1089.00	Excavation for soil	105197.40		
2	644.00	Laying of 300mm Dia A.C. Pressure Pipe	18.25	Rmt	11753.00
3	244.00	Laying of 200mm Dia A.C. Pressure Pipe	11.50	Rmt	2806.00
4	1.00	300mm Dia Job Work	960.00	Nos	960.00
5	90.00	M.S Special	89.00	Kg	8010.00
6	243.30	C.I. Work	65.00	15814.50	
7	8.00	300mm Dia C.I short Joint	999.00	7992.00	
8	8.00	200mm Dia C.I. short Joint	580.28	4642.24	
9	1.00	300mm Dia Sluice Valve Fixing	613.20	613.20	
10	1.00	200mm Dia Sluice Valve Fixing	394.10	394.10	
11	359.37	Removing Of Excavated Stuff	171.00	61452.27	
12	1.00	Dewatering Work	136.60	136.60	
13	9.00	Tractor Rent	1035.00	9315.00	
PART-A		1279336.80	Total		229086.31
PART-B		229086.31	Net. Total		229086.31
	Total 1508423.11				
	Say	1509000.00			

I/We	agree	to	carry	out	the	above	said	work	at
41				in Cala				%	equal/above/below
on the	tendered	rates	s snown	ın Scn	eaule.				
								Sig	nature of Contractor.
<b>Лост Г</b> .					D F.		_	۸ -	dell City Considerate
Asst.En	igineer				Dy.Ex	c.Enginee	ľ	AC	ddl. City Engineer
R.M.0	С.					R.M.C.			R.M.C.